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WA 13.7 EES 3.1 - 1,080 — 10 Va9
IZALA 17.2 E & 14.9 1,620 1,080 1,080 10 vay L
Z1FS 5.6 BERE 5.4 3,564 2,700 2,700 10 A 2M
[E<E0y 6.1 BERE 2.1 — 540 — 15 A 8
HTE 2.0 BERE 0.5 2,160 1,728 1,080 4f A M
ZED: 6.6 2 [ 3.0 - 1,080 — 4f A M
Fry 80.2 ERE 35.0 540 — 324 0] A 8
IE5NAZES 2.7 2 [ 1.1 2,808 — 2,592 4 M
hE 9.9 ERE 5.8 1512 1,188 1,188 3l A L
_hE 1.6 ik B 1.3 2,268 972 972 3 vay M
_hE 2 0.2 2,268 — 1,944 3 vay M
125 2.7 ElG 1.3 2,700 1,890 1,620 5] vay
R 1.1 2 0.6 3,240 — 2,592 0] A L
T RAINSHR 1.1 B A 0.5 — 157 — 01| vay M
LA 25.2 E % 13.2 1,080 864 864 10 LL
FoTYA 1.0 BRE 0.6 2,074 1,512 1512 4f A M
=Y 14.7 BRE 9.4 2,160 1,728 1,620 5/ A M
=S5l = I 3.7 2,376 1,944 1,944 5/ A M
ANESSES) 7.0 BRE 4.7 — 1,404 — 0] A 5
Y 5.3 EES 3.7 3,279 2851 2519 8
Y = I 1.2 - 1,836 — 5/ A LL
k< 18.9 BRE 7.8 1,296 1,080 1,080 4f A M
d B A 6.2 1,404 1,134 864 4 vay 24
I=kTh 8.9 BRE 7.8 130 70 38 02 A M
E—<y 9.0 BERE 6.0 2,700 — 2,160 0] A LM
E53ACL 3.2 E & 1.7 1,814 1,555 1,426 5/ A 3L
x93 1.2 BRE 1.2 140 130 130 008 A M
IZH5Y) 44 BERE 4.0 1,944 1,080 1,080 3l A L
SPVAITFA 1.0 BRE 0.9 1,728 - 1,188 2l A
MrAL& 45 E X 3.4 2,646 2,268 2,106 5 S
IEhi s 30.5 E 5 30.0 - 1,944 — 0] A L
IEhi s E 15 1,458 — 1,404 0] A LL
[EhiLs BEREE 0.5 — 1,080 - 10
&N 0.1 th F 0.1 - 3,996 — 0] A 3L
f=Fh&E 29.6 = B 26.4 — 3,132 - 20 L
5oE&LD 1.1 BRE 1.1 5,400 4860 4,320 0] A M
ELLVE=T 1.2 BERE 0.1 — 108 - 0.1 L
ELLV=IT E 5 0.4 - 173 - 0.25| M M
ZADEET 40 E I 2.2 32 22 22 0.1 A
LoHL 24 2 [ 2.3 97 76 65 0.2
ESES T 341.0
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BINAMDAET 0.4
INDRAFHNA 0.4
LEY 2.3 TA)H 2.2 7,344 5,400 5,400 17 140
INLUYVT 7.3 TA)H 7.3 7,020 4,860 2,160 17
L7y 0.3 m7r2Y 0.3 — 4860 — 15 50
YATE 6.1
PErE=IY 1.0 5 & 1.0 - 4,320 — 10[ wILA
AL 3.6 5 3.6 7,020 — 6,480 10] Ya%A 40
EX S 0.1 5 & 0.1 5,940 5,400 5,400 10[ bty
U 0.2 £ & 0.2 — 2,765 — 8 e
3HET 0.2
) 0.2 2 [ 0.1 756 648 648 03l ¢ LL
FTHHE
ERGS 2 - 626 — 04l A L
B35 0.1 e 0.1 — — — PR LL
fipYp) W iz - 648 — 02| bva L
fipYp) iz 648 — 594 02| MMa M
58 11.0 2 5.3 4,320 — 3,780 5/ A L
SESE 0.5
To9z7F 0.2 2 E 0.2 - - — PR LL
FT5917F 2 [ 454 454 432 0.25] 7hva L
To9z7F B2 [ - - - PR M
Big 0.1 2 E 0.1 821 810 756 03] B 3L
[ f2 [ - 972 — 03] B 4L
(A 1.5 BERE 1.4 270 194 184 0.25] vay LL
W52 BRE 162 108 108 0.25] vay S
(A N 0.1 — 302 — 0.25] vay 3L
AOVEF 6.3
7—IJLR 0.5 = I 0.1 4,320 — 3,996 85 A2 3L
AH3 0.3 = I 0.1 - 3,240 — 5/ A 3L
FDAOY 5.5 BERE 1.8 1,944 — 1,620 5/ A LL
JLHE 8.2
ARy 5.9 EEES 5.9 3,888 3,024 3,024 150 A 3L
TV B K - 2,916 - 10 Y19 M
CfEET LA 2.3 £ IH 0.8 3,456 - 3,240 10 A LL
AV 228 EUEY 226 4536 3,186 2,991 15
IMFyTIL 6.2 EUEY 6.0 3,024 2,484 2,484 10 8
FoL4TILY 4.4 iy 27 4.4 2,700 2,484 2,484 4 30
BEE 79.3




